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SECTION - A

Answer any ten questons Each question carries lhree ma*s

1 . Whal are the dillerences between conslructor and destructof ?

2. whd are lhe lunclions ofovetloading operalors i

3- lvention the different ways of inhe ting the members ot a class'

4. What are the usage of lhe untormatled l/O lunciions ?

5. Deline abslracl dala lype, explain with an example'

6. Whal are tho important operations ot siack and queue ?

7, How lo concatenate two slngly llnked list ol characteG ?

8- Whar are lhe mefits and demerils oJ binary iree ?

9. Menlion the dra$tacks ol tre€ traversal

10. How to insed an elementto a threaded binarytree ?

1 1 . write an algorilhm to iraverse lhe graph in brcadth lirsi order'

12. whatareihedifler€ncesbetlve€n idemalsorting and extemalsorling ? (10t3=30)
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SECTION- B

Answer allquestions, each qu€stion €r es len ma*s.

1 3, a) Whal afe dynamic constructors, dascuss lhe dynamic constructors and
destructors lor string objects.

OR
b) With suitable, show how data conversion is achieved lrom one class to anolhsr,

14, a) Explain publlc, pdvateand protecled access speciliers and howtheirvisibility,
when theyare inheritedaspublic, pdvale and protected ?

OR
b) Explain multiple inheiitance and giv6 its general lom. lllustrate multiple

inhe tancos byaC++ program.

15. a) Define the terms qLreue and c,lrcular queue. Wdte an algorilhm to perlorm
Enq!eue Operalions.

OR
b) Design an abonhm lo feverse a given singly lineaf linked list.

16. a) Us€ a single dimensional afiay tor reprosonling a binary lre€, Design pre-order
liavsrsal algorithm.

OR
b) Develop an algorithm to search an elemenl in a binary tree.

17. a) Explain deprh-lirst and breadth-lirsl vaveFalol an undirecled graph.

OR
b) Whal are the merits ol heap sorl, explain the st€ps involved increaling a

heap? (5110=50)


